T2 RN [7ZFA]] BHSE
oIan| £8020~21%, 43 2/38]16~1
E=m]

FO{Z Zf2({7HA| LEHHO] 2

Zs Aol zj2|  eHo| z[2|  Ho| 2|2
6483
~ QF 2t0| AAZ HI22I5l0f B
[02~03] =2 e} 20| 242 vr22/5i0]
MNe.
7|
+ 5.3202 dHi=2I5l00 AL =W 227}
LIEFLHR 5.3QIL|CH,
* 8.7462 Br2ESIH A M AR
LIEFLHR 8.75QIL|C}.
02 28915 Br=2ot &4 2R AL2(7HA| LIEL
L Adojelvie?
( )
03 7.635Z Bt2sto] A SH A2|7HR| LtEL
LfH opelvte?

Hr221510f BHo| Z2}2|7}R| LIEFE 23000]
= 0 25 OR st L.

2251 2356 2210 2327

05 Zamaol Zojs & cmQlz| B

O At2|7tA| LIEILHY 2N

3

06 =so|u| stmo| Ustee 1748, ofstae
1461F YLt =0|H| stuol ot a9
olstd 5 2z gr=stod dol Ate7tA|
LIEHLHO] 2M2

o ( )
o1 ( )

07 # st= 438 3 #Mor A8SI0] S 4
Ue 7t A2 Yl el £ Y=o o
Of Af27tA| LIEHLHE HORIZ] o EM K.

9 3 6 4

Mirae®



T2 RN [72A]] dt=ElS
oIan| £8020~21%, 43 2/38]16~1
E=m]

FO{Z A2 7ER] LIEIL O] M|

= ool A2 EHof Zf2| - HO| A<
6483 6480 6500 6000
D 6483 = 6480, 6483 = 6500, 6483 = 6000

[02~03]

ML,
=]
« 5.3202 Hi=22l5l0] A2 AHW Z2|71R|
LIEFLHH 5.3 LT},
« 8.7462 HI22UI5t0] AL SR 22|7HR|
LIEFLHEH 8.75QLICt
02 28915 Br=2ot &4 2R AL2(7HR| LIEL

ED 23891 = 29

03 76352 greds
L& Zorelvte?

ot & S| A2|7HA| LtEf

( 7.64 )
ED 7635 = 7.64

04 vsr=221510f ol 22|7HA| LIEIL®  23000]
= 70| 25 O StMl2.

@25D 2356 2210 232D

£ 2251 = 2300, 2356 = 2400,
2210 = 2200, 2327 = 2300

06

07

1. 20| AHelet 0F57|

o=t
Tz
ShA HE Sl (o] 1=
05 Zaimtaol Zols & cmQIA| Br2250 &

O At2|7tA| LIEILHY 2N

3

ED =2fotAo] 2ol 6-2cmYLch
6.2 = 6

SHO|Y| Btwo| FBHYe 1748, Of5HA
1461HAULICH =YO|Y| Stwo| st 49t
o5t 45 2tz Hr2Rsto] Ho| 2|7t
LIEFLHO] EA|
LISHH ( 1750 )
ot (14008 )
ED st 1748 = 1750
OfSHAl: 1461 = 1460
4 FIE 4WS B MO AIBSIO O &
JUe 7t &2 Y 22| 8 vt2sto 4
O Zt2|7HA| LIEILEH HOIRIX| S EAMK.
( 3470 )
& 3<4<6<90|22 Bt & s 71 A2 4 22
= 346944t
3469 = 3470

Mirae®



